HRE28 e MERFFANLGERE—
T =2 £ AERNERAEESXFERELIE(ERXELIE) ARL M M | <R 1% 3 (a) 038
T =3 5 T REEARETHBE213%E# BT s E (R 5% $(b) 0.2
A KL EE Bl A& (Fr k) 42,710,000 A |F E M+ (Fd) 46,126,800 A =IEAFLEE (xmin) 42,000,000 A
5 L = TER314E1 8288 EALE 98.3 % Bl m i mE s (ymax) 120
. AMUBHE B0 P | g | ALEERExE | REEEAY | e | BEEEEAExG) | DO |
S I IE 1z IE R B
(x) X=(xmin)+(x) X 100 X (a) (y) Y=(y)=(ymax) X 100 X (b) X+Y
- (BE)LEE= 42,250,000 2 79.52 90 3 15.00 94.52 3
AL T FTIX 42,000,000 1 80.00 120 1 20.00 100.00 1
- #HI5E (R 42,300,000 4 79.36 90 3 15.00 94.36 4
- FHEREREE) 42,480,000 6 79.04 90 3 15.00 94.04 5
- EHEKITEGR) 42,250,000 2 79.52 80 7 13.32 92.84 7
- [ A E T (%) 42,300,000 4 79.36 85 6 14.16 93.52 6
- (R SHEHREER 42 560,000 7 78.88 100 2 16.66 95.54 2
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0




